
Instructions Polaris  RZR Pro XP

STEP ONE – (Order of operation is important for alignment) Using the Handle Assemblies, first, bolt the 
Flap Mounts on the inside of the polycarbonate as seen in the picture using two 10-24 bolts and lock-
nuts and finish tighten bolts.  Mount the Upper Brackets ON THE TOP of the frame ledge using the 
other two 10-24 bolts and nuts. There is room for adjustment if you would like to adjust the vents. 

STEP TWO – Place the clamps on the roll cage in the approximate locations. The flat face of the clamp 
should face forward and the clamp opening pointed towards the center of the machine. 

Install windshield wiper before next step if applicable. There is another instruction sheet for wiper install.

4 – Universal Billet Clamp  2”

4 – Bolt  1/4-20 × 2.5”

4 – Flat Washer 1/4”

4 – Lock Washer 1/4”

8 – Locknuts 10-24  

8 – Bolts  10-24 × 1/2” 

1 – 1/2” Adhesive Foam × 40”

1 – Long Handle Assembly Right

1 – Long Handle Assembly Left

Flap Mount

Upper Mount Frame Ledge

PRO TIPS
Optional: Remove the backing to the 1/2” Adhesive Foam and put it on the front top most edge of the windshield. This will fill the 
area between the roof and the top of the windshield where they come in contact. Be extremely precise where you apply the foam the 
adhesive is permanent and will not release. 

Clamp Orientation


